


CONNECT SYSTEM

-

=
=

(Connecting bolts)

WHEN FITTING CAMS

TURN CLOCKWISE UNTIL SECURE

ENSURE STARTING POSITION IS CORRECT
BEFORE YOU INSERT CONNECTING BOLT

viel | ®| 8]
| DI

CORRECT WRONG

X

—— > 191-850mm. —— P

100mm. EQ EQ

EQ EQ
1 Pc.
4—<£ 190mm.—p|
40mm. 40mm.

2 Pcs.

100mm.

3 Pcs

100mm.

¢—— > 850-2000mm. ———P

EQ EQ EQ

¢ > 2001mm.

M3.5x13mm.

0e

O 0o

(o009 o NER
l T I P

Use these holes




HARDWARE

A

X12

#M3.5x13

X14

Y

#M4x16

X8

W

X
-
N

o

@)

#TFL4 M6x23

X6

X6

X12

X12












B #TFL4 M6x23







11.

#M4x30

280267-2 110030945 9



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

